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e 5. Evaluate the line integral fr-d: , where F=(1,x2+y). and the curve C
2 2
(o
consists of the part of the circle x +Y =4 from (2,0) to (0,2).
followed by the line segment from (0,2) to (1,5). (15 marks)
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6. a) Consider the vector field F(x,y)=(y“cosx-y e " ,h62y+2ysinx-(l+xy)e ")

Decide whether or not F(x,y) has a potential function, and find a
potential function if there is one. (7 marks)

b) Evaluate f3dx+2y2dy+(1+y3)dz , where C is the curve parametrized by
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r(t)=(1+s;;€,I;E;;;,-sint), Ostsn/2. (8 marks)
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7. Evaluate f(y*ln(l+x3))dx+xde, where the curve C is the boundary of the
region enéiosed between the parabola y=x2

and the line y=2x, traversed

once, in the counterclockwise direction. (15 marks)
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